

A note on degenerate poly-Genocchi polynomials

Sunil Kumar Sharma *

College of Computer and Information Sciences, Majmaah University, Majmaah 11952, Saudi Arabia

ARTICLE INFO

Article history:

Received 5 May 2019

Received in revised form

1 February 2020

Accepted 3 February 2020

Keywords:

Polylogarithmic function

Degenerate poly-Genocchi polynomials

Summation formulae

Symmetric identities

ABSTRACT

In this article, we introduce degenerate poly-Genocchi polynomials and numbers. We derive summation formulas, recurrence relations, and identities of these polynomials by using summation techniques series. Also, we establish symmetric identities by using power series methods, respectively.

© 2020 The Authors. Published by IASE. This is an open access article under the CC BY-NC-ND license (<http://creativecommons.org/licenses/by-nc-nd/4.0/>).

1. Introduction

Genocchi polynomials are very frequently used in various problems in pure and applied mathematics related to functional equations, number theory, complex analytic number theory, Homotopy theory (stable Homotopy groups of spheres), differential topology (differential structures on spheres), theory of modular forms (Eisenstein series), p -adic analytic number theory (p -adic L -functions), quantum physics (quantum Groups). For instance, generating functions for Genocchi polynomials with their congruence properties, recurrence relations, computational formulae and symmetric sum involving these polynomials have been studied by many authors in recent years such as Young (2008), Araci (2014), Araci et al. (2011), Açıkgöz et al. (2011), Araci et al. (2014a, 2014b), Haroon and Khan (2018), Khan et al. (2017, 2018), Khan and Haroon (2016), and Araci (2012).

The well-known degenerate exponential function (Kim et al., 2019; Kim and Ryoo, 2018) is defined by

$$e_{\mu}^{\eta}(z) = (1 + \mu z)^{\frac{\eta}{\mu}}, e_{\mu}(z) = e_{\mu}^1(z), (\mu \in \mathbb{R}). \quad (1.1)$$

Since

$$\lim_{\mu \rightarrow 0} (1 + \mu z)^{\frac{\eta}{\mu}} = e^{\eta z}.$$

The degenerate type Bernoulli and Euler polynomials are defined by (Carlitz, 1979; Carlitz, 1956):

$$\frac{z}{e_{\mu}(z)-1} e_{\mu}^{\eta}(z) = \frac{z}{(1+\mu z)^{\frac{1}{\mu}-1}} (1 + \mu z)^{\frac{\eta}{\mu}} = \sum_{s=0}^{\infty} \beta_s(\eta; \mu) \frac{z^s}{s!}, \quad (1.2)$$

and

$$\frac{2}{e_{\mu}(z)+1} e_{\mu}^{\eta}(z) = \frac{2}{(1+\mu z)^{\frac{1}{\mu}-1}} (1 + \mu z)^{\frac{\eta}{\mu}} = \sum_{s=0}^{\infty} \mathfrak{E}_s(\eta; \mu) \frac{z^s}{s!}. \quad (1.3)$$

Thus, we have

$$\lim_{\mu \rightarrow 0} \beta_s(x; \mu) = B_s(\eta), \lim_{\mu \rightarrow 0} \mathfrak{E}_s(\eta; \lambda) = E_s(\eta).$$

In the year 2016, Lim (2016) introduced the generalized degenerate type Genocchi polynomials $G_j^{(p)}(\eta; \mu)$ are defined by

$$\left(\frac{2z}{e_{\mu}(z)+1} \right)^p e_{\mu}^{\eta}(z) = \left(\frac{2z}{(1+\mu z)^{\frac{1}{\mu}-1}} \right)^p (1 + \mu z)^{\frac{\eta}{\mu}} = \sum_{j=0}^{\infty} G_j^{(p)}(\eta; \mu) \frac{z^j}{j!}, \quad (1.4)$$

so that

$$G_j^{(p)}(\eta; \mu) = \sum_{s=0}^j \binom{j}{s} G_s^{(p)}(\mu) \left(\frac{\eta}{\mu} \right)_{j-s}. \quad (1.5)$$

From Eq. 1.4, we note that

$$\lim_{\mu \rightarrow 0} \sum_{s=0}^{\infty} G_j^{(p)}(\eta; \mu) \frac{z^j}{j!} = \lim_{\mu \rightarrow 0} \left(\frac{2z}{(1+\mu z)^{\frac{1}{\mu}-1}} \right)^p (1 + \mu z)^{\frac{\eta}{\mu}} = \left(\frac{2z}{e^z+1} \right)^p e^{\eta z} = \sum_{j=0}^{\infty} G_j^{(p)}(\eta) \frac{z^j}{j!}, \text{ (see (1-25)).}$$

The degenerate poly-Bernoulli and poly-Genocchi polynomials are defined by (Khan, 2016a; Kim et al.,

* Corresponding Author.

Email Address: s.sharma@mu.edu.sa

<https://doi.org/10.21833/ijaas.2020.05.001>

Corresponding author's ORCID profile:

<https://orcid.org/0000-0002-1732-2677>

2313-626X/© 2020 The Authors. Published by IASE.

This is an open access article under the CC BY-NC-ND license

(<http://creativecommons.org/licenses/by-nc-nd/4.0/>)

2019; Kim and Kim, 2015; Kim et al., 2014a; 2014b; Kim and Ryoo, 2018; Lim, 2016):

$$\frac{Li_k(1-e^{-z})}{e_\mu(z)-1} e_\mu^\eta(z) = \frac{Li_k(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}-1}} (1+\mu z)^\eta = \sum_{s=0}^\infty B_s^{(k)}(\eta; \mu) \frac{z^s}{s!}, \quad (1.6)$$

the classical polylogarithm function $Li_\nu(z)$ is

$$Li_\nu(z) = \sum_{r=1}^\infty \frac{z^r}{r^\nu}, (\nu \in \mathbb{Z}) \text{ (see [18 – 24])} \quad (1.7)$$

so for $\nu \leq 1$,

$$Li_\nu(z) = -\ln(1-z), Li_0(z) = \frac{z}{1-z}, Li_{-1}(z) = \frac{z}{(1-z)^2}, \dots$$

Kim et al. (2015, 2014a, 2014b) and Khan (2016b, 2016c) introduced polytype (Bernoulli and Genocchi) polynomials are defined by

$$\frac{Li_\nu(1-e^{-z})}{e^z-1} e^{\xi z t} = \sum_{j=0}^\infty B_j^{(\nu)}(\xi) \frac{z^j}{j!}, \quad (1.8)$$

and

$$\frac{2Li_\nu(1-e^{-z})e^{\xi z}}{e^z+1} = \sum_{j=0}^\infty G_j^{(\nu)}(\xi) \frac{z^j}{j!}. (\nu \in \mathbb{Z}). \quad (1.9)$$

For $\nu = 1$ in Eq. 1.8) and Eq. 1.9, we get

$$\frac{Li_1(1-e^{-z})}{e^z-1} e^{\xi z} = \frac{z}{e^z-1} e^{\xi z} = \sum_{j=0}^\infty B_j(\xi) \frac{z^j}{j!}, \quad (1.10)$$

and

$$\frac{2Li_1(1-e^{-z})}{e^z+1} e^{\xi z} = \frac{2z}{e^z+1} e^{\xi z} = \sum_{j=0}^\infty G_j(\xi) \frac{z^j}{j!}. \quad (1.11)$$

From Eq. 1.10 and Eq. 1.11, we have

$$B_j^{(1)}(\xi) = B_j(\xi), G_j^{(1)}(\xi) = G_j(\xi).$$

We recall the following definition as follows:

- The first kind of Stirling numbers are given by

$$(a)_j = a(a-1)\dots(a-j+1) = \sum_{q=0}^j S_1(j, q) a^q, (j \geq 0). \quad (1.12)$$

- The second kind of Stirling numbers are defined by generating function

$$(e^z - 1)^p = p! \sum_{q=p}^\infty S_2(q, p) \frac{z^q}{q!}. \quad (1.13)$$

A generalized falling factorial sum $\tau_k(j; \mu)$ is defined by Young (2008):

$$\sum_{k=0}^\infty \tau_k(j; \mu) \frac{z^k}{k!} = \frac{1 - (-(1+\mu z))^{\frac{(n+1)}{\mu}}}{1 + (1+\mu z)^{\frac{1}{\mu}}}, \quad (1.14)$$

where $\lim_{\mu \rightarrow 0} \tau_k(j; \mu) = T_k(j)$. This article is as follows. We consider the degenerate type poly-Genocchi polynomials $G_j^{(\nu)}(\xi; \mu)$ and construct some basic properties and derive some implicit formulae and symmetric identities for the degenerate poly-

Genocchi polynomials by using different analytical means of their respective generating functions.

2. Degenerate poly-Genocchi polynomials

Let $\mu \in \mathbb{C}, \nu \in \mathbb{Z}$. We introduce the degenerate poly-Genocchi polynomials and numbers are given by

$$\frac{2Li_\nu(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^\xi = \sum_{j=0}^\infty G_j^{(\nu)}(\xi; \mu) \frac{z^j}{j!}, \quad (2.1)$$

so that

$$G_j^{(\nu)}(\xi; \mu) = \sum_{k=0}^j \binom{j}{k} G_{k,\mu}^{(\nu)}(\xi) \left(-\frac{\xi}{\mu}\right)_{j-k} (-\mu)^{j-k}. \quad (2.2)$$

When $\xi = 0$ in Eq. 2.1, $G_{j,\mu}^{(\nu)} = G_{j,\mu}^{(\nu)}(0)$. Note that

$$G_{j,\mu}^{(1)}(\xi) = G_{j,\mu}(\xi),$$

and

$$\lim_{\mu \rightarrow 0} G_j^{(\nu)}(\xi; \mu) = G_j^{(\nu)}(\xi), (\nu \in \mathbb{Z}), \quad (2.3)$$

where $G_j^{(\nu)}(\xi)$ are called the poly-Genocchi polynomials.

Theorem 2.1: Let $\mu \in \mathbb{C}, \nu \in \mathbb{Z}$, and $j \geq 0$. Then

$$G_j^{(2)}(\xi; \mu) = \sum_{s=0}^j \binom{j}{s} \frac{B_s s!}{s+1} E_{j-s}(\xi; \mu). \quad (2.4)$$

Proof: Using Eq. 2.1, we see

$$\begin{aligned} \sum_{j=0}^\infty G_j^{(\nu)}(\xi; \mu) \frac{z^j}{j!} &= \frac{2Li_\nu(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^\xi \\ &= \frac{2(1+\mu z)^{\frac{\xi}{\mu}}}{(1+\mu z)^{\frac{1}{\mu}+1}} \\ &= \int_0^w \frac{1}{e^v-1} \int_0^v \frac{1}{e^v-1} \dots \frac{1}{e^v-1} \int_0^v \frac{v}{e^v-1} dv \dots dv \end{aligned} \quad (2.5)$$

(v-2)- times

for $\nu = 2$ in Eq. 2.5, we find

$$\begin{aligned} \sum_{j=0}^\infty G_j^{(2)}(\xi; \mu) \frac{z^j}{j!} &= \frac{2(1+\mu z)^{\frac{\xi}{\mu}}}{(1+\mu z)^{\frac{1}{\mu}+1}} \int_0^w \frac{u}{e^u-1} du \\ &= \left(\sum_{s=0}^\infty \frac{B_s s!}{s+1} \right) \frac{2(1+\mu z)^{\frac{\xi}{\mu}}}{(1+\mu z)^{\frac{1}{\mu}+1}} \\ &= \left(\sum_{s=0}^\infty \frac{B_s s!}{(s+1)s!} \frac{z^s}{s!} \right) \left(\sum_{j=0}^\infty E_j(\xi; \mu) \frac{z^j}{j!} \right) \\ &= \sum_{j=0}^\infty \left(\sum_{s=0}^j \binom{j}{s} \frac{B_s s!}{s+1} E_{j-s}(\xi; \mu) \right) \frac{z^j}{j!}, \end{aligned}$$

which gives the asserted result of Eq. 2.4.

Theorem 2.2: Let $\mu \in \mathbb{C}, \nu \in \mathbb{Z}$, and $j \geq 0$. Then

$$\begin{aligned} G_j^{(\nu)}(\xi; \mu) &= \sum_{s=0}^j \binom{j}{s} \\ &= \left(\sum_{q=1}^{s+1} \frac{(-1)^{q+s+1} q! S_2(s+1, q)}{q^k(s+1)} \right) G_{j-s}^{(\nu)}(\xi; \mu). \end{aligned} \quad (2.6)$$

Proof: Eq. 2.1, we find

$$\sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} = \left(\frac{Li_v(1-e^{-z})}{z} \right) \left(\frac{2z(1+\mu z)^{\frac{\xi}{\mu}}}{(1+\mu z)^{\mu+1}} \right) \quad (2.7)$$

now

$$\begin{aligned} \frac{Li_v(1-e^{-z})}{z} &= \frac{1}{z} \sum_{q=1}^{\infty} \frac{(1-e^{-z})^q}{q^k} = \frac{1}{z} \sum_{q=1}^{\infty} \frac{(-1)^q}{l^k} (1-e^{-z})^q \\ &= \frac{1}{z} \sum_{q=1}^{\infty} \frac{(-1)^q}{q^k} q! \sum_{s=l}^{\infty} (-1)^s S_2(s, q) \frac{z^s}{s!} \\ &= \frac{1}{s} \sum_{s=1}^{\infty} \sum_{q=1}^s \frac{(-1)^{q+s}}{q^k} q! S_2(s, q) \frac{z^s}{s!} \\ &= \sum_{s=0}^{\infty} \left(\sum_{q=1}^{s+1} \frac{(-1)^{q+s+1}}{q^k} q! \frac{S_2(s+1, q)}{s+1} \right) \frac{z^s}{s!}. \end{aligned} \quad (2.8)$$

From Eq. 2.7 and Eq. 2.8, we have

$$\begin{aligned} \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \\ \sum_{s=0}^{\infty} \left(\sum_{q=1}^{s+1} \frac{(-1)^{q+s+1}}{q^k} q! \frac{S_2(s+1, q)}{s+1} \right) \frac{z^s}{s!} \left(\sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} \right), \end{aligned}$$

which proves the result of Eq. 2.6.

Theorem 2.3: Let $\mu \in \mathbb{C}$, $v \in \mathbb{Z}$, and $j \geq 0$. Then

$$\begin{aligned} \frac{1}{2} \left[G_j^{(v)}(\xi + 1; \mu) + G_j^{(v)}(\xi; \mu) \right] &= \\ \sum_{s=1}^j \binom{j}{s} \left(\sum_{q=0}^{s-1} \frac{(-1)^{q+s+1}}{(q+1)^k} (q+1)! S_2(s, q + 1) \right) \left(-\frac{\xi}{\mu} \right)_{j-s} (-\mu)^{j-s}. \end{aligned} \quad (2.9)$$

Proof: Using the definition in Eq. 2.1, we have

$$\begin{aligned} \sum_{j=0}^{\infty} G_j^{(v)}(\xi + 1; \mu) \frac{z^j}{j!} + \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \\ \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{\xi+1}{\mu}} + \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{\xi}{\mu}} &= \\ 2Li_v(1-e^{-z})(1+\mu z)^{\frac{\xi}{\mu}} &= \\ 2 \sum_{q=0}^{\infty} \frac{(1-e^{-z})^{q+1}}{(q+1)^k} (1+\mu z)^{\frac{\xi}{\mu}} &= \\ 2 \sum_{s=1}^{\infty} \left(\sum_{q=0}^{s-1} \frac{(-1)^{q+s+1}}{(q+1)^k} (s+1)! S_2(s, q + 1) \right) \frac{z^s}{s!} (1+\mu z)^{\frac{\xi}{\mu}} &= \\ 2 \left(\sum_{s=1}^{\infty} \left(\sum_{q=0}^{s-1} \frac{(-1)^{q+s+1}}{(q+1)^k} (q+1)! S_2(s, q + 1) \right) \frac{z^s}{s!} \right) \left(\sum_{j=0}^{\infty} \left(-\frac{\xi}{\mu} \right)_j (-\mu)^j \frac{z^j}{j!} \right), \end{aligned}$$

yields the result in Eq. 2.9.

Theorem 2.4: Let $c \in \mathbb{N}$, $v \in \mathbb{Z}$, and $j \geq 0$. Then

$$\begin{aligned} G_{j-v}^{(v)}(\xi; \mu) &= \\ \sum_{a=0}^{d-1} \sum_{v=0}^j \sum_{v=1}^{v+1} \binom{j}{v} c^{j-v-1} \frac{(-1)^{v+s+1} s! S_2(v+1, s)}{s^k v+1} &= \\ G_{j-v}^{(v)} \left(\frac{v+\xi}{c}; \frac{\mu}{c} \right). \end{aligned} \quad (2.10)$$

Proof: Using Eq. 2.1, we find

$$\begin{aligned} \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{\xi+1}{\mu}} \\ &= \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} \sum_{a=0}^{c-1} (1+\mu z)^{\frac{1+\xi}{\mu}} \\ &= \left(\frac{Li_v(1-e^{-z})}{z} \right) \frac{1}{c} \sum_{a=0}^{c-1} \frac{2cz}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{1+\xi}{\mu}} \\ &= \left(\sum_{v=0}^{\infty} \left(\sum_{s=1}^{v+1} \frac{(-1)^{v+s+1}}{s^k} s! \frac{S_2(v+1, s)}{v+1} \right) \frac{z^v}{v!} \right) \\ &\left(\sum_{j=0}^{\infty} c^{j-1} \sum_{a=0}^{c-1} G_j \left(\frac{1+\xi}{c}; \frac{\mu}{c} \right) \frac{z^j}{j!} \right), \end{aligned}$$

which gives the result in Eq. 2.10.

Theorem 2.5: Let $v \in \mathbb{Z}$ and $n \geq 0$, then

$$G_j^{(v)}(\xi + u; \mu) = \sum_{r=0}^j \binom{j}{r} G_{j-r}^{(v)}(\mu)^r \left(\frac{u}{\mu} \right)_r. \quad (2.11)$$

Proof: Using Eq. 2.1, we see

$$\begin{aligned} \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{\xi+1}{\mu}} \\ &= \left(\sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} \right) \left(\sum_{r=0}^{\infty} (\mu)^r \left(\frac{u}{\mu} \right)_r \frac{z^r}{r!} \right). \end{aligned}$$

On comparing the coefficients of $\frac{z^j}{j!}$, we get the result in Eq. 2.11.

Theorem 2.6: Let $v \in \mathbb{Z}$ and $n \geq 0$. Then

$$G_j^{(v)}(\xi; \mu) = \sum_{r=0}^j \binom{j}{r} \left(-\frac{w}{\mu} \right)_r (-\mu)^r G_{j-r}^{(v)}(\xi - w; \mu). \quad (2.12)$$

Proof: Using Eq. 2.1, we find

$$\begin{aligned} \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{\xi-w}{\mu}} (1+\mu z)^{\frac{w}{\mu}} \\ &= \left(\sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} \right) \left(\sum_{r=0}^{\infty} \left(-\frac{w}{\mu} \right)_r \frac{(-\mu z)^r}{r!} \right), \end{aligned}$$

which completes the result in Eq. 2.12.

Theorem 2.7: Let $v \in \mathbb{Z}$ and $n \geq 0$, then

$$G_j^{(v)}(\xi + 1; \mu) \frac{z^j}{j!} = \sum_{r=0}^j G_{j-r}^{(v)}(\xi; \mu) \left(-\frac{1}{\mu} \right)_r (-\mu)^r \frac{z^j}{(j-r)!r!}. \quad (2.13)$$

Proof: Using Eq. 2.1, we see

$$\begin{aligned} \sum_{j=0}^{\infty} G_j^{(v)}(\xi + 1; \mu) \frac{z^j}{j!} - \sum_{n=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \\ \frac{2Li_v(1-e^{-z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1+\mu z)^{\frac{\xi}{\mu}} \left((1+\mu z)^{\frac{1}{\mu}} - 1 \right) &= \\ \left(\sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} \right) \left(\sum_{r=0}^{\infty} \left(-\frac{1}{\mu} \right)_r \frac{(-\mu z)^r}{r!} \right) - &= \\ \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!} &= \\ \sum_{j=0}^{\infty} \sum_{r=0}^j G_{j-r}^{(v)}(\xi; \mu) \left(-\frac{1}{\mu} \right)_r (-\mu)^r \frac{z^j}{(j-r)!r!} - &= \\ \sum_{j=0}^{\infty} G_j^{(v)}(\xi; \mu) \frac{z^j}{j!}, \end{aligned}$$

which gives the result in Eq. 2.13.

3. General identities

Here, we establish general identities for the degenerate poly-Genocchi polynomials $G_j^{(v)}(\xi; \mu)$ by applying the generating function. We start the some identities as follows.

Theorem 3.1: Let $v \in \mathbb{Z}$, $a, b > 0$, and $n \geq 0$. Then

$$\begin{aligned} \sum_{r=0}^j \binom{j}{r} b^r a^{j-r} G_{j-r}^{(v)}(b\xi; \mu) G_r^{(v)}(a\xi; \mu) &= \\ \sum_{r=0}^j \binom{j}{r} a^r b^{j-r} G_{j-r}^{(v)}(a\xi; \mu) G_r^{(v)}(b\xi; \mu). \end{aligned} \quad (3.1)$$

Proof: Suppose

$$A(z) = \left(\frac{4Li_{\nu}(1-e^{-az})Li_{\nu}(1-e^{-bz})}{((1+\mu z)^{\frac{a}{\mu}+1})((1+\mu z)^{\frac{b}{\mu}+1})} \right) (1 + \mu z)^{\frac{2ab\xi}{\mu}} \tag{3.2}$$

$$A(z) = \sum_{j=0}^{\infty} G_j^{(\nu)}(b\xi; \mu) \frac{(az)^j}{j!} \sum_{r=0}^{\infty} G_r^{(\nu)}(a\xi; \mu) \frac{(bz)^r}{r!}$$

$$= \sum_{j=0}^{\infty} \sum_{r=0}^j \binom{j}{r} a^{j-r} b^r G_{j-r}^{(\nu)}(b\xi; \mu) G_r^{(\nu)}(a\xi; \mu) \frac{z^j}{j!}$$

Similarly, we can show that

$$A(z) = \sum_{j=0}^{\infty} G_{j,\mu}^{(\nu)}(a\xi; \mu) \frac{(bz)^j}{j!} \sum_{r=0}^{\infty} G_r^{(\nu)}(b\xi; \mu) \frac{(az)^r}{r!}$$

$$= \sum_{j=0}^{\infty} \sum_{r=0}^j \binom{j}{r} a^r b^{j-r} G_{j-r}^{(\nu)}(a\xi; \mu) G_r^{(\nu)}(b\xi; \mu) \frac{z^j}{j!}$$

which proves the identity in Eq. 3.1.

Remark 3.1: Letting $b = 1$, Theorem 4.1 reduces the following result

$$\sum_{r=0}^j \binom{j}{r} a^{j-r} G_{j-r}^{(\nu)}(\xi; \mu) G_r^{(\nu)}(a\xi; \mu)$$

$$= \sum_{r=0}^j \binom{j}{r} a^r G_{j-r}^{(\nu)}(a\xi; \mu) G_r^{(\nu)}(\xi; \mu). \tag{3.3}$$

Theorem 3.2: Let $\nu \in \mathbb{Z}$, $a, b > 0$, and $n \geq 0$. Then

$$B(z) = \sum_{j=0}^{\infty} \left(\sum_{r=0}^j \binom{j}{r} a^{j-r} b^r G_{j-r}^{(\nu)}(b\xi; \mu) \sum_{i=0}^r \binom{r}{i} \tau_i(a-1; \mu) G_{r-i,\mu}^{(\nu)}(a\eta) \right) \frac{z^j}{j!} \tag{3.5}$$

Using a similar plan, we get

$$B(z) = \sum_{j=0}^{\infty} \left(\sum_{r=0}^j \binom{j}{r} a^r b^{j-r} G_{j-r}^{(\nu)}(a\xi; \mu) \sum_{i=0}^r \binom{r}{i} \tau_i(b-1; \mu) G_{r-i}^{(\nu)}(b\eta) \right) \frac{z^j}{j!} \tag{3.6}$$

which yields the desired result.

4. Concluding remark

In this paper, we consider the modified degenerate poly-Genocchi polynomials are defined employing the following generating function

$$\frac{2Li_{\nu}(1-e^{-2z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1 + \mu z)^{\frac{\xi}{\mu}} = \sum_{j=0}^{\infty} G_{j,2}^{(\nu)}(\xi; \mu) \frac{z^j}{j!} \tag{4.1}$$

Thus, by Eq. 4.1, we easily get $G_{0,2}^{(\nu)}(\xi; \mu) = 0$. When $\xi = 0$, $G_{j,2}^{(\nu)}(\mu) = G_{j,2}^{(\nu)}(0; \mu)$ are called the modified degenerate Genocchi numbers. For $\nu = 1$, we note that

$$\frac{2Li_1(1-e^{-2z})}{(1+\mu z)^{\frac{1}{\mu}+1}} (1 + \mu z)^{\frac{\xi}{\mu}} = \sum_{j=0}^{\infty} G_{j,2}(\xi; \mu) \frac{z^j}{j!} \tag{4.2}$$

Hence

$$G_{j,2}^{(1)}(\xi; \mu) = G_j(\xi; \mu), (j \geq 0).$$

Compliance with ethical standards

Conflict of interest

The authors declare that they have no conflict of interest.

$$\sum_{r=0}^j \binom{j}{r} a^{j-r} b^r G_{j-r}^{(\nu)}(b\xi; \mu) \sum_{i=0}^r \binom{r}{i} \tau_i(a-1; \mu) G_{r-i}^{(\nu)}(a\eta; \mu)$$

$$= \sum_{r=0}^j \binom{j}{r} a^r b^{j-r} G_{j-r}^{(\nu)}(a\xi; \mu) \sum_{i=0}^r \binom{r}{i} \tau_i(b-1; \mu) G_{r-i}^{(\nu)}(b\eta; \mu). \tag{3.4}$$

Proof: We now use

$$B(z) = \frac{4Li_{\nu}(1-e^{-az})Li_{\nu}(1-e^{-bz})(1-(-(1+\mu z))^{\frac{ab}{\mu}})(1+\mu z)^{\frac{ab(\xi+\eta)}{\mu}}}{((1+\mu z)^{\frac{a}{\mu}+1})((1+\mu z)^{\frac{b}{\mu}+1})^2}$$

to find that

$$B(z) = \left(\frac{2Li_{\nu}(1-e^{-az})}{(1+\mu z)^{\frac{a}{\mu}+1}} \right) (1 + \mu z)^{\frac{ab\xi}{\mu}} \left(\frac{1-(-(1+\mu z))^{\frac{ab}{\mu}}}{(1+\mu z)^{\frac{b}{\mu}+1}} \right)$$

$$\times \left(\frac{2Li_{\nu}(1-e^{-bz})}{(1+\mu z)^{\frac{b}{\mu}+1}} \right) (1 + \mu z)^{\frac{ab\eta}{\mu}}$$

$$= \sum_{j=0}^{\infty} G_j^{(\nu)}(b\xi; \mu) \frac{(az)^j}{j!} \sum_{r=0}^{\infty} \tau_r(a-1; \mu) \frac{(bz)^r}{r!} \sum_{i=0}^{\infty} G_i^{(\nu)}(a\eta; \mu) \frac{(bz)^i}{i!}$$

$$= \sum_{j=0}^{\infty} G_j^{(\nu)}(b\xi; \mu) \frac{(az)^j}{j!} \sum_{r=0}^{\infty} \sum_{i=0}^r \binom{r}{i} b^r \tau_i(a-1; \mu) G_{r-i,\mu}^{(\nu)}(a\eta) \frac{z^r}{r!}$$

References

Açikgöz M, Araci S, and Cangül İN (2011). A note on the modified q-Bernstein polynomials for functions of several variables and their reflections on q-Volkenborn integration. Applied Mathematics and Computation, 218(3): 707-712. <https://doi.org/10.1016/j.amc.2011.01.091>

Araci S (2012). Novel identities for q-Genocchi numbers and polynomials. Journal of Function Spaces and Applications, 2012: 214961. <https://doi.org/10.1155/2012/214961>

Araci S (2014). Novel identities involving Genocchi numbers and polynomials arising from applications of umbral calculus. Applied Mathematics and Computation, 233: 599-607. <https://doi.org/10.1016/j.amc.2014.01.013>

Araci S, Acikgoz M, and Şen E (2014a). On the von Staudt-Clausen's theorem associated with q-Genocchi numbers. Applied Mathematics and Computation, 247: 780-785. <https://doi.org/10.1016/j.amc.2014.09.053>

Araci S, Erdal D, and Seo JJ (2011). A study on the Fermionic p-Adic q-Integral representation on \mathbb{Z}_p associated with Weighted q-Bernstein and q-Genocchi Polynomials. In Abstract and Applied Analysis, Hindawi, 2011: 649248. <https://doi.org/10.1155/2011/649248>

Araci S, Şen E, and Acikgoz M (2014b). Theorems on Genocchi polynomials of higher order arising from Genocchi basis. Taiwanese Journal of Mathematics, 18(2): 473-482. <https://doi.org/10.11650/tjm.18.2014.3006>

Carlitz L (1956). A degenerate Staudt-Clausen theorem. Archiv der Mathematik, 7(1): 28-33. <https://doi.org/10.1007/BF01900520>

- Carlitz L (1979). Degenerate Stirling Bernoulli and Eulerian numbers. *Utilitas Mathematica Journal*, 15: 51-88.
- Haroon H and Khan WA (2018). Degenerate Bernoulli numbers and polynomials associated with degenerate Hermite polynomials. *Journal of the Korean Mathematical Society*, 33(2): 651-669.
- Khan WA (2016a). A new class of Hermite poly-Genocchi polynomials. *Journal of Analysis and Number Theory*, 4 (1): 1-8.
<https://doi.org/10.18576/jant/040102>
- Khan WA (2016b). A note on degenerate Hermite poly-Bernoulli numbers and polynomials. *Journal of Classical Analysis*, 8(1): 65-76.
<https://doi.org/10.7153/jca-08-06>
- Khan WA (2016c). A note on Hermite-based poly-Euler and multi poly-Euler polynomials. *Palestine Journal of Mathematics*, 5(1): 17-26.
- Khan WA and Ahmad M (2018). Partially degenerate poly-Bernoulli polynomials associated with Hermite polynomials. *Advance Studies in Contemporary Mathematics*, 28(3): 487-496.
- Khan WA and Haroon H (2016). Some symmetric identities for the generalized Bernoulli, Euler and Genocchi polynomials associated with Hermite polynomials. *SpringerPlus*, 5(1): 1-21.
<https://doi.org/10.1186/s40064-016-3585-3>
PMid:27872796 PMCID:PMC5097062
- Khan WA, Araci S, Acikgoz M, and Haroon H (2017). A new class of partially degenerate Hermite-Genocchi polynomials. *Journal of Nonlinear Sciences and Applications*, 10(9): 5072-5081.
<https://doi.org/10.22436/jnsa.010.09.43>
- Khan WA, Khan IA, and Ahmad M (2018). Implicit summation formula for 2-variable Laguerre-based poly-Genocchi polynomials. *International Journal of Analysis and Applications*, 16(6): 856-867.
- Kim DS and Kim T (2015). A note on degenerate poly-Bernoulli numbers and polynomials. *Advances in Difference Equations*, 2015: 258.
<https://doi.org/10.1186/s13662-015-0595-3>
- Kim DS, Kim T, and Lee H (2019). A note on degenerate Euler and Bernoulli polynomials of complex variable. *Symmetry*, 11(9): 1168. <https://doi.org/10.3390/sym11091168>
- Kim T and Ryoo CS (2018). Some identities for Euler and Bernoulli polynomials and their zeros. *Axioms*, 7(3): 56.
<https://doi.org/10.3390/axioms7030056>
- Kim T, Jang YS, and Seo JJ (2014a). A note on poly-Genocchi numbers and polynomials. *Applied Mathematical Sciences*, 8(96): 4775-4781.
<https://doi.org/10.12988/ams.2014.46465>
- Kim T, Jang YS, and Seo JJ (2014b). Poly-Bernoulli polynomials and their applications. *International Journal of Mathematical Analysis*, 8(30): 1495-1503.
<https://doi.org/10.12988/ijma.2014.46178>
- Lim D (2016). Some identities of degenerate Genocchi polynomials. *Bulletin of the Korean Mathematical Society*, 53(2): 569-579.
<https://doi.org/10.4134/BKMS.2016.53.2.569>
- Young PT (2008). Degenerate Bernoulli polynomials, generalized factorial sums, and their applications. *Journal of Number Theory*, 128(4): 738-758.
<https://doi.org/10.1016/j.jnt.2007.02.007>